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4. (1) trans (2) healthier (3) increase (4) reduces

E) 212 20 goiE
RIZBHA AEH0| 2123t Aol 2EI|2A MKl BAS B
UCH O] XI%, 5 Al J2|A, i 0|Zr2I010) A= AIRSS

7|0 £30| 2T AFHO T Z2AK| QDL UL HBXISS 1

=1L oo
50| XS5 AE] FE 2401 22|HQE ALSotE Hlof 1 of
=

Holl 821827} Ho[x|ge] F2 SFROICL W2 S2ALQ0 4
B HZICH MBTE S2ABR0) b

4 At 2 g
O, S2HQE X2 HUSTSXWOR THE0 ULt IUS 2
o o Z2 ZE0| XIWOICk, 2HE ol2f2e] ot L Li Z2A
EIS2| XIS ZANLORM NIl TS HHELL 0l2f Of
XHOZ, HEI SB4 KWW 22 TER|YD EAXLL
Aol 982 FOITL IUSS L BAHSO| 2712 S7HA
7Tk, ALZ O|tR(FDANN T2B 5120) 22|28 F AR J1y
S Tie 2 YWl YIS SUKIE BEC), HaS| BXY
T} EUAXWS S2(HQE HHBORM AR O AU 4
S B 4 Ut

oHA‘l

I
U

1. SEERIt XISchA] A 71T ko 2t S0|C.

2. O|0{X|= LHE0| =2 S2|ER0 2tet A0|Ct.

3. (1) XIBoH AU AHE2 CHE XS AIZSEL P WHE
0] Hrt. (3) HE = MA2| LEE S AHE XIS S7HAZIC

4. SEHQE HUSTSX|LOR O A6, MEEO| 2t
o LY LEE SYAEIE XIS LA O HEHY S22
|42 ZopX|i ERHAX O = & 7AY5HH, AEH 2
ol LY L SYAHE XI5 72

Mediterranean Diet

| Reading 02

1.d 2.a 3.c

4. restaurant, atmosphere, ingredients, reasonable
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Reading Closer

A Across @ reasonable @ substitute @ lower

@ reputation
Down ® prime ® affordable @ benefit
- memorable @ imported @© deliver
B 1. affordable 2. friendly 3. benefits
4. reduce 5. ingredient
C for, relaxed, healthy, saturated, memorable
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B 1. Peoplein these cultures eat small amounts of meat

and dairy products.

2. Olive oil is the principal source of dietary fat.

3. Some people drink a glass of olive oil every morning.

4. The Mediterranean diet shows that not all fat is bad.
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B 1. Our goal is to make each visit a delightful and
memorable experience.
2. Check out the wide variety of choices available.
3. All our produce and breads are delivered fresh daily.
4. We also take pride in our consistency of flavor.
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1 drenched 2 outplayed

| Reading 01

1.(1)a (2)c 3)b 2.c 3.b

4. glands, minerals, bacteria, cool, waste, dehydrate
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4. Florida, dehydration, Gators, second, leagues
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Reading Closer

A Across @ effect @ odorless @ average @ outplay

Down ®& damp ® fatigue @ opponent ® sweat
@ official @© entire

B 1. dehydration 2. drenched 3. evaporate
4. fatigue 5. outplay

C ®@ more — less
[HM] A= ST A HOIA 0HL Q17|17 QT OS2 XpA

0| 71 E0tst= B2l 34 S2E OfA= XS E0tettt 1
gL ARX ZE7t AZ0 E2717 RLCH HHE0| BS
1287t =20| 2 &+ UCh B HEj o, MFl=

Fe2S Ut ARX F2E OANSS A =HEY
(T},

H

=
JL O SR0ils £t B2 A MATL QUL WE

rlo 3°
=}
mjn
rulo
E
=
30
Ral
|n...
o
40
»Q
a Mo
o
nz
Ral
Y
ox
ol
N
—Ho
o
>

rir

ARX ZRILINLE 0|], & @S H0| 2dl= 284

mjo
i
1o
P
N
do
o9
o
i)

FO mo mn
2 |ng
o |
o
uo "
i o
30 N
oo
]
2 T1r
HI
10
nx
om
B

o
nx
10
=
0
Ho
Ot
fjo
1
-
Q'E
rir
°

O
Hu
[}
(]
w
N

H

0
o
il

A2 &4 WORKBOOK

Reading 01 6-72
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B 1. Sweat contains mainly water and a small amount of
minerals.
. Sweating is our body’'s main way of cooling itself.

. Sweat also gets rid of waste from the body.
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. If you sweat too much, you can get into trouble.
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. Many athletes love to drink it to prevent dehydration.
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. It can cause fatigue and keep athletes from playing

their best.

. They decided to test the new product on 10 members

of the university football team.

. The rights to Gatorade were purchased by the

company in 1983.
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1 accurate 2 convenience

| Reading 01

1.c 2.d 3.a

4. maps, wood, night, scale, distances, public, buildings
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| Reading 02

1.a 2.d 3.(D)F T (3T

4. (1) cameras (2) online (3) visual (4) privacy

TF) 72 2E2EH
B ARSI H MA 2 7
Ol0fAle] EAS HIZ5H XIT Z2I0ICH o222 FojM H
st MASS
Sxjoll MxIE
o 0|0|XIE 201 37| H20f FH53lCt.

2007\0] AJRHE 0|52, 72 AEB|E HE T2 =8| Of

J0| =[O RACH M2 MES2S 20| HAYE

T2 AEZE H=0|L AH2(2| ==

A

ro

=2 dMsl & + ULt 01R2 72 AECSE JFItH A
L=

o
2 7tH2HE AEot (HZ20] 2 U= LS

mjo
=
OH
ol
o
[
ng
g'y

Ot OR2 AMEHS0| 22202 O XS W2 = UA=Z o &

C}. Of2f0| OpRA

=, mOE =
HIBI0) T2 P25t YR ARISO0| UCH TS Ha|3H0] AR
22 742 510 2CHT M2ABITE Of2{20| AOR = 20| 7}
mtol ZaE 4+ 2t Yol HIE 4 ULk 0|2

22 WEMKE el ME & ULt
o
1. 72 AEL|E Ro| IHI} 0] MH|A0 CHE 229 2|AS H|

N

(]
an
10

w
=
Pl
Ol
el
2
J>"
|'0II

b 7t0[2Ha large number of car-mounted

cameras)% O|EaHA AFRIS =0t SHC,

=)
!
H
>
m
o
[m
JI
rir

tSXto| 2XIE 7 2HE 0185t ==0
2 X

X
M SES H0EL SR 2RICE ¥ f

H
o

MO

=
=
=
=

> Mo

S S
FHE 5 = ULt HE2 2= AH

o

e

Zoll 247F AT

Answers - 5



Reading Closer

A Across @ scale @ risk ® debate

@ convenience ® examine

Down ® carve @ violate ® shoreline

© accurate @© misuse

B 1.represent 2. accurate 3. violate
4. expense 5. misuse
C ®is—was
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B 1. Believe it or not, many of them also used maps.
2. ltis believed that Inuit maps were very accurate.
3. Ancient Romans added the concept of scale to
maps.
4.Scale lets you figure out actual distances by
examining a map.
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13. M350t 14, =0t

15. RE E]9 16. ~2 3| 0{7|X| QiLCt

1.
2.

It allows people to visit a location online.
It gives you visual information about all kinds of

places around the world.

3. You don't have to travel in person to see them.
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. In theory, it is possible that millions of people are

looking into your gardens or windows.
A=0|Lt 72(2|
=EZ0|0M2 2EE MS5h= X Z2140]|Ct,

CIZ{E2 TN HASHH HASS dMls| 2 &+ AT
O|AZ T2 AEE|E JIt XS0 2XIE T2 FHHE
AE510] 0220] 2 U= HAS9| O|0|XIE 20 F7|

=0 7+SSICt.
o H0] E[0f 2Tt U2 MBS
L8 AIRS0] ULt

fS H7t2 St0f 20t W2H3Ht
e

0| 7tm|2tof] ZAHE 4= U =1

CH4-EXI 9470 0171 ARHS Ol oI5 1 M7t 28
A QL
. Of22.0] AHE0| HHZE 2 LT, MX0f ofzi2ol 4

A= A &

EE



Silk & Silk Road
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1 insect 2 luxurious
| Reading 01

1.(1)b (2)c (3)a 2.b 3.c

4. egg, larva, mulberry, thread, moth, cocoon, boiled
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Reading 02

1. (1) Paragraph 3 (2) Paragraph 2 (3) Paragraph 1
2.d 3.d
4. (1) oldest (2) 2,000 (3) 10,000 (4) network

(5) Changan (6) India (7) silk (8) civilizations
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Reading Closer

Across @ hatch @ capital @ route @ period ® trade

Down ® transform @ ancient ® vital

© thread © extensive
1. stretch 2. hatch 3. transform 4. split 5. vital

ancient, China, luxurious, cocoons, cruel
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Reading 01 14~15%
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4. EH=R 5 4 6. =0
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1. The insect begins its life as a tiny egg.

2. ltis as small as the period at the end of this sentence.

3. The egg takes about fourteen days to hatch into a
larva.

4. This makes it difficult to make the best silk.
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B 1. The Silk Road is one of the world’s oldest trade

routes.

. It stretches more than ten thousand kilometers.

3. Wealthy Europeans were willing to pay for this
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luxurious cloth.

. Goods were generally passed from middleman to

middleman.
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1 compete 2 extend

| Reading 01

1.(1)c (2)a (3)b 2.d
3.(NDT 2T Q)F

4. host, country, diameter, 3, silver, $600, athletes
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Behind the Olympic Games
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| Reading 02

1.d 2.b

3. (1) images (2) product, sales

4. business, sponsor, products, exclusive, know-how
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Reading Closer

Across @ minimum @ exclusive @ entirely

@ receive ® extend

Down ® confidential @ compete ® dedication
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© pure @© athlete

estimate 2. worth 3. participate

revenue 5. symbolize

fewer — more
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10.
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16.
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. The host country is responsible for producing the

medals.

. Some medals for recent Olympics have been

larger.

. Olympic gold medals are no longer made of pure

gold.

- Answers

. The value of a gold medal doesn’t depend on the

value of the gold and silver.

C 1.4U0iCHH MA 2] 23 M+S0]| S HS Sloh &H 2 ICt

2. 2L A2 £t ST HEE UHEsX 210 RS

0| HOfLt 7kX| U=K| OH=7}?

3. FZ|=2 Hot= U= HEFS ORI & ATt

4. 2429 Mg FASt X[E 60mm, T 3mm7Z}t =|0{0F

St

5. Q52 92.5 HMEQS 20= HENX| Z|A 619

=2 EFELCH

6.0l= 2 =322 FHFS US7|0l= HF HIMY| ME

o|ct.

7. =322 ThE ORX|9 S FHE2 19128 AQH A

&S0 0190t

J2H SHEL| 7= Lo

X 6o Fo2, O % 60029 7tx(0 =ut
SICY.

10. FHES = A2 ZE Y M9 BO|C},
Reading 02 20~21%
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B 1. Participating in the Olympic Games is a dream for

many athletes.

2. They have become one of the best places for

advertising and marketing.

3. Many companies are willing to pay lots of money to

be a sponsor.

4. Revenue on sponsorship makes up more than 40%

of Olympic revenue.
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Reading Closer

Across @ separate @ connect @ benefit @ request

Down ® browse ® specific @ develop ® translate
© tool @ invent

1. indicate 2.regard 3. contain 4. translate 5. browse
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1. Some people think that the World Wide Web is the
same thing as the Internet.

2. He feltthe need to develop a tool to share information
over the Internet.

3. His work is regarded by some as being as important
as Gutenberg’s printing press.

4. He has fought hard to make sure that nobody owns
the World Wide Web.
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1. A Web browser is a piece of software that enables
us to read webpages.

2. An IP address is a code made up of numbers which
identifies a particular device on the Internet.

3. An |IP address consists of four sets of numbers
from 0 to 255.

4. Without DNS, we would have to remember the IP
address of every site we want to visit.
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Reading 01

1.a 2. the nights were longer

3.c

4. (1) saints (2) religion (3) Celtic (4) dark

(5) leave (6) costumes
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4. drunk, soul, Heaven, promise, resting, doorsteps

Stingy Jacka}t 20t

orUzHE TIEH0f M2, ALl Stingy JackO|2Hs 0| 2| At
Tt MUCE T DE AMRENH =
440| =QI0|UCH O &, = Otof A
27 st F LI /0] MXIHE sUC
Ct. JackS XtAIO| =US f KpAIQ]
&3 St L2 2A
Jack2 HE MX7IE X2

#H 0, Jack0| =

7| MEO AR

0

KLH|7|8 B0ISHs Mofet
At =

S MA Attt

=2

3Q

of0t= Wz = ®

3

10

FES HIZ7HA| R

ZZUCHLL ofOtol|AH| ALt 2ADH7t S2ISHAL,
1 OHE L2 A SHCH.

AL D= =0 UK 7HK] glE oS

M, I BTS20 XIS22 LT

2Lt of0b= K| of4 S XIFM 8 XIS2= QK| ZokA| UL

Jack2 O|X| Z 0| ANUCL 2= = O] 710kt RS A

2 4 QIALLED ofotof A SULt. otot= J0H XKL St
YLZS HHCE Jack EH4 7HAIT CHIE 20| ¥ &5 010 1
748 91 & IS 30} SOICH 7| A|RIBHCE = ‘“S29| Jack’
o= RYHRC

TR TO0] OIUHME AFHE2 2R 42 HIRT T 20 §
2 20t 152 1 MM H(jack-0’ lantern)g Jackat CHE 2t
HS0| 71110 € 4 QA 220 EQUCt 1 ME0| 0jROZ B
A SHI0| &F& CHASHAl =IALCH

5o
1. Y 0 = 5 As S 2EQ ML UE (jack-0’ lantern)Q]

2. (A) ZUY ~BICHH 0|2k Q| if7F YL
(B) TSO| MaliXli= A0|22 ~FEHZ MOF HH=C},
3. ©= Devilg 7t217]1, UMHX|= 25 Jacks 7t2|ZICt
4. ackO|2t= FYYO| =210] AUTE, o

[SHA] sugofl Stingy J
L, d= A0E £0iM 27t &
2 Sl 3L}, Jacko|

e XS0E S01Z 4 git=dl, ALsHH

S
TP} 4 KIZ7| SOIAC T2HA 1 M2 Mo
0:1 A

AE M 29 g=S vt
ALk d= =0

IXME 20 MHZ7| AIZRUCE 20 Ot HE

Answers - 13



Reading Closer

Across @ turnip @ costume ® custom @ originate

® celebrate ® wander
Down @ holy ® miserable @ toss @ opposite
1. hollow 2. wander 3. trick 4. treat 5. tradition

celebrated, costumes, hollowed, doorstep, tricks
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1. People around the world celebrate Halloween with
costumes and candy.

2. Some customs of Halloween originated from the
Celtic festival of Samhain.

3. The Celts believed that the souls of the recently
dead could walk the earth on this night.

4. Children dress up in costumes as the Celts did a

long time ago.
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B 1. He was a miserable old drunk who liked to play

tricks on everybody.

2. Jack told the Devil he would let him down if he
promised not to take his soul when he died.

3. He went to Heaven but was turned away because
he had led a worthless life.

4. They left a jack-0’ lantern on their doorsteps to keep

Jack and other evil spirits away.
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About Greenland
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1 settlers 2 continents
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Reading Closer

A Across @ settler @ distinct @ scientific
@ murder ® status
Down ® Classify @ local ® climate
@ criteria @© attract
B 1. continent 2. separate 3. attract
4. exile 5. subjective
C ©@outof—in
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B 1. Greenland is the world's largest island.
2. The name Greenland comes from the early
Scandinavian settlers.
3. Itwas only in the 18th century that Danish colonization
began.
4. Greenland still remains the least densely populated
place in the world.
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B 1. Greenland is known as an island while Australia is
considered a continent.
2.1t must be tectonically independent from other
continents.
3. It must have biological distinctiveness with unique
animal and plant life.
4. Greenland's wildlife is largely similar to that of North
America.
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4. university, volunteer, popular, focus, themselves
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| Reading 02

1.¢c 2.a 3.d
4. [What | did] school, well

[What | learned] teamwork, cuisine
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Reading Closer

A

Across @ purpose @ acquire @ complete

@ dreadful ® momentum

Down ® spend @ abroad motivate © essential

1.
5.

pursue
cuisine 2. abroad 3. encourage 4. diarrhea

suffer from

© to help some kids — helping some kids
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34~35%

of| =Y 3.

CMEf MERE 10, 74 1. 7185

=
15. XHESAL 16. E1 9|3

1.
2.

They use this time for different purposes.
A gap year experience can last for several weeks

or up to a full year.

3. They get a chance to find out about themselves.

18 -

. SO =710 W2 FH20IS2 HuE AEsH| ™

. The concept has its origins in the United Kingdom.
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SIEE 5. W=E9 6. 224, 22|
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10. RIS FAIRAIE 1. B[SOt
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14. ~OF TIMBICH15. 70| MzZtsiCt 16. &S S0i=Ct

. When | look back, everything in Kenya has been

great.

. The new well will give clean water to every kid.
3. | learned that helping others makes me happy.

. I had plenty of opportunities to learn about the local

culture and cuisine.
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1 amazing 2 depict

| Reading 01

1.b 2(1)T 2F 3T 3.¢c

4. painter, polio, hospital, self-portraits, paint
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Self-Portraits of Artists
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| Reading 02

1.d 2.b
3. (1) professional (2) therapy

4. 37, money, directly, mentally
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(2) Frida Kahlo= x|S2| &t
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Reading Closer

Across @ exploration @ pain ® strength @ reveal

® depict ® mentally

Down @ suffer ® therapy ® amazing © trend

1. well-known 2. depict 3. reveal 4. injure 5. destroy

regarded, professional, self-portraits, herself, artistic
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Reading 01

A

20 -

1.4 2. T3], i 3. AFQ
4. 28s oot 5. Ota|3tCt 6. =X
i 8

1

9. =22

1. 1 am happy as long as | can paint.

2. Her doctor didn’t expect her to survive.

3. Her paintings simply show what was happening to
her.

4. Despite all the pain in her life, she continued to
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Reading 02 40~41%
A 1.9 2. J2|Ch QARSI 3. HHA
4. 8, g4 5. HXN 6. E2{LACt
7. 8%t 8. =2l 9. &8
10. T2 ROIIM - 11, 4 12. X5, 2y
13. 279, t2E M= 14. UMoz
15. &g, 1Esl= 16. XISslct

1. Self-portraits are pictures artists paint of

themselves.

2. Self-portraits have been made since the earliest

times.

3. He seldom looks directly at us.

4. She lets out her feelings on her canvases.
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1 debate 2 deceive

| Reading 01

1.c 2.b 3.d

4. planet, debate, definition, dominant, Eris
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The Goddess of Discord
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| Reading 02

1.b 2.d 3. (A) to join (B) broke
4. (1) golden (2) ownership (3) Aphrodite
(4) wife (5) wooden (6) horse
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3.

4.

(A) "ask + A + to-- ; LZO|Ct, (AGIA| ~5t2tl QASICH
(B) break out2 (M S0|) WsiCH= 520\, HHAIHZ
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Reading Closer

B

Across @ discord @ stable @ claim @ propose
® dominant ® debate
Down @ goddess ® outraged @ deceive @ wisdom

1. proclaim 2. approximately 3. belong 4. dominant
5. stable
®© Therefore — However
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1. X9 2. 71FE 3. H4Mol; 289l 4. QHHHQI
6. AZSHXITH 7. <, THE 8. 9

11. M9 12. 7§t 13. QIHSH HIZ 0[R2 14. X2
Ct 15. XI5, &E 16. EHYA

1. Pluto lost its status as a planet.

2. Pluto was much smaller than the other eight
planets.

3. The name was proposed by the discovery team.

4. Eris is the Greek goddess whose greatest joy is to
make trouble.
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Aot

5. 1 =342 200540 2003 UB313'0|2t E2|= 7{igt =
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1. sttt 2. =& OHE 3. &) 4. X[3] 5. MEXNQl M

49| 6. 413t 7. FofsliCt 8. #2 9. ~2 Melste 10. &

SICH 11. MASICE 12. A28 13. £0] El 14. £0|Ct 15,

HME|E 16. ~0f &5tk

1. She said the apple belonged to the fairest.

2. He left for Sparta and took Helen to Troy.

3. That is how the legendary war started.

4. The rest of the Greeks sailed away to deceive the
Trojans.
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1 tragedy 2 biological
| Reading 01

1.b 2.d 3.c

4. stranded, sick, shallow, navigation, lose, magnetic,
field
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Ocean Giant, the Whale
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| Reading 02
1.d 2.d 3.b
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Reading Closer

A

Across @ sink @ tragedy @ shallow @ frequent

® giant

Down @ float ® majestic @ disrupt ® intelligent

1.
5.
@

@ biological
offset 2. undertake 3. marine 4. abandon
estimate

swim into — to swim into
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. It is a tragedy, and we don’t know why it happens.
. Scientists are still searching for clues that will

unlock this mystery.

. There are some theories about why whales swim

into shallow water.

. They follow a sick whale on shore to help it, and

become stuck.
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. They dive deep in the ocean, where they feed on

squid.

. They come back to the surface to breathe.

3. Because itis rich in iron, it helps stimulate plankton

- Atiet =0

growth.

. This is equal to the amount of carbon dioxide.
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How We Spend Money
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Reading Closer

A Across @ available @ demand

Down @ influence ® desirable

@ value luxury

experiment

B 1. supply 2. consumer

3. Persuasion 4. abnormal

C high-status, scarce, if, luckily, wiser
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B 1. ltis a common belief that the law works perfectly at

all times.

2. Increasing their prices doesn't lead to a decrease

in demand.

3. Status-seeking consumers think that the products

will help them look special.

4. The law of demand applies after the peak has been

reached.
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. Why did the participants show different preferences

after tasting the same cookies?

. This happened because of the so-called “scarcity

effect.”

. Suggesting that a product is scarce is an effective

marketing technique.

. We tend to be more attracted to scarce items.

. 1975, AM2|stXt Stephen Worchel2 £0|22 MSS

SH Er

3

CH7IROA O 22 E LAHS SHLE AL F0 XS

NED IS QF3MCE

IS HOflA & Holls 107He] qXp7F S0 AAL,

LIHA] 2E0A = Holl= 2702 S0 UUL.

- O 20| &Y W, R2|l= FoMHCZ 70| F K 7t
R AL GZHSHCt
2HH, LML & 5= U= A2 =0 B7IoHK| =t
- AFES2 MIF0| ot M2totH Hojol A0
2t MES T Aot
0] "2Hd 2 LM oY 4 ACHE SH2 ofT{oliLt
AL
2= EE HE Uoll, T3 289 = L=
£ ' 7182t g2



Pi: As Many As Pie
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| Reading 01

1.c 2.d

3. sound, circle
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Reading Closer

Across @ unofficial @ endless @ gather @ repeat

® calculate ® symbol @ observe

Down estimate © series @ accurate

1. apply 2. observe 3. constant 4. precise 5. series
® though — because
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1. March 14 is a special day in the lives of some
people in the U.S.

2. The ancient Greek mathematician Archimedes
calculated the ratio of a circle’s circumference to its
diameter.

3. One reason why they eat pie is that the words pie
and pi sound the same.

4. Some people say that Pi Day should be observed
on July 22 rather than on March 14.
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B 1. Piis the ratio between the circumference of a circle

PN [GPS
. HE2 #0|

and its diameter.

. The modern symbol for pi was first used in 1706 by

Welsh mathematician William Jones.

. The earliest written record of pi dates back to 1900

BC.

. That is so because everyone estimated the value

of pi by hand.
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3. use, environment 4. (1) high-tech (2) China
(3) cutting back (4) demand (5) concentrated

(6) industries
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Reading Closer

Across @ rare @raw @ suffer @ process ® element

Down ® mine @ ore ® bury @ export @ valuable

1. extract 2. global 3. scatter 4. raw 5. supply

@ touch poisonously materials — touch poisonous
materials
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Reading 01
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1. Mining is basically extracting mineral ores from the
planet.

2. The extracted ores cannot be used as they are.

3. They need to be carefully processed to get rid of

the impurities.

30 - Answers

A

3. 0|ZA siM 22

1.
4.
7.
10
13
16

1.

- o

. Mining impacts the environment and therefore

must be undertaken with extreme care.
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Nations are racing to have a secure supply of rare

earth metals.

. That is why rare earth metals are called “rare.”

3. Highly concentrated ores of rare earth metals are

N

o ok w

10.

usually found in China.

. China has been cutting back exports to ensure it

has enough rare earth metals for its own use.
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1 concluded 2 content

Reading 01

1.a 2.b

3. (sample) The king’'s men traveled around the world
to find a truly happy man. However, they couldn’t find a
truly happy man. The king was upset. He finally made
a shirt on his own and gave it to the prince. The prince
became happy. / (sample) The king’s men found a
truly happy man in a small village. They brought him at
the palace and the king was really pleased. The prince

exchanged his shirt for the happy man’s.
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The Happy Man’s Shirt
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| Reading 02

1.c 2.a
3.(MF@FERT

4. cheer, exchange, priest, death, content, shirt
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Reading Closer

A Across @ disappointed @ save ® tight @ priest

® cure

Down ® accept @ examine ® comfort @ truly

harvest

B 1. content 2. conclude 3. exchange 4. spot

5. advice
C favor, one, disappointed, neighbor, secret
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. The king tried to cheer him up with every method

possible.

. The king visited the ruler and asked what made him

so happy.

3. The king went out to hunt to comfort himself.

4.1 wouldn’t change my place for any other place in
the world.
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